Interviewer 1 distributions

Offer holders:
Mean =
Median =
Min =

Max =

Lwr Qrt =

Upr Qrt =

Unsuccessful:
Mean =
Median =
Min =

Max =

Lwr Qrt =
Upr Qrt =

All:
Mean =
Median =
Min =
Max =
Lwr Qrt =
Upr Qrt =

7.63
7.50
6.50
8.50
7.50
8.00

5.78
6.00
4.00
7.50
5.50
6.00

6.10
6.00
4.00
8.50
5.50
6.50

Interviewer 2 distributions

Offer holders:
Mean =
Median =
Min =

Max =

Lwr Qrt =

Upr Qrt =

Unsuccessful:
Mean =
Median =
Min =

Max =

Lwr Qrt =
Upr Qrt =

All:
Mean =
Median =
Min =
Max =
Lwr Qrt =
Upr Qrt =

7.50
7.75
6.00
8.00
7.13
8.00

5.55
5.50
3.00
8.00
5.00
6.00

5.88
5.50
3.00
8.00
5.00
7.00



